SplashLearn

Comparison Word Problems

Write the correct equation and find the correct answer.

Ron has 9 toy cars. Rachel has 7 toy cars.
How many more toy cars does Ron have than Rachel?

Ron o
Rachel 7 ?
7 |+ 2 | = OR 9 |- 7
Ron has more toy cars than Rachel.

Emma has 18 marbles. Ava has 8 marbles.
How many fewer marbles does Ava have than Emma?

Emma 18
Ava 8 ?
Ava has fewer marbles than Emma.

Louis has 14 building blocks. Mike has 9 building blocks.
How many fewer building blocks does Mike have than Louis?

Louis 14

_________

Mike 9 ?

Mike has fewer building blocks than Louis.




